






































T T T Tt T TTr TS v T AT T TP T T T T

You can see that every number that apg

all numbers on its left.

Let's find number 3 on the number line.
Since, number line shows numbers in or

the line marked between 2 and 4 shows
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Ihere are U thousands in 3Z0.

Remember we can write as many zeroe

number.

THHITGIO VWIS WV ISIH HHTnnaviie 111 2 Ve 1 Vww

3 ten million > O ten million.

So,32 100 789 > 1324 660.
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e) There are two schools in a town. ¢

8 910 children go to the other scl

gnhnnlg?






Inere are L« DISCUITS IeTT.

We find the difference between two nt

the place value of their digits.
€D
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b) Aliis reading a book that has 423

How many pages are left to read”
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Let's find what 12 times 3 is.

12x3="7






























d)  Thereare 1272 children in a scl

many books are there in total?



Ahmad takes 2 biscuits out.
There are 6 biscuits left.

8-2=6
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O times J is equal fo 1O.

So, 15 divided by 3 is equal to 5.

15+3 =25
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5 times 4 is 20 and we will be left with

We can also write it as 23 — 4=195 Ren






















































The number 8 can be divided by 1, 2, 4
1,2, 4 and 8 are called factors of 8.


















Let’s write first ten multiples of 3.

3 6 9 12 16 18

You can see that some numbers are mu

o™












Let's write factors of 18.

1 2 3 6 9 18

You can see that some numbers are fac



















Ohe cut tirst cake in 8 pieces and took

She took of the first cake.

She cut second cake in 8 pieces and to

She took

of the second cake.

Since, both cakes were cut into equal s

denominator is same for both fractions

and are like fractions.

o

Anam’s mother bought two similar cake

She cut first cake in 6 pieces and took

denominator is different for both fracti

We call such fractions unlike fractions.
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We have learnt to calculate the product

2 g3 =2 ., 2
7 -7 7
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length.

Anam wants to measure the length of

She can use a ruler to measure the len

There are 10 equal parts between O cr
the ruler. Each part is 1 millimetre long

write it as 1 mm.

[Nale oY}



We can see that it is 3 mm longer th

So, length of the nail is 5 cm 3 mm.

We can also write this lenath in millin
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[tis 9 o clock.

We say it is 9 am.

Zara goes to school at 8

Sana comes home from school at 2 —












2.

Asim is 1 m 25 cm tall. His teacher

difference between their heights?
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hours 30 minutes on her Mathemati

she spend in total?
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2. align the tip of the pencil with


















